Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o1 ufwiEes (37T FeReaHe)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
fareratrest
(5 fopett wier Rro)
3 9-37-3 = U (ATEAT I 37T 89 .94
2 9-37-23 = U (ATSAT U 37T %% 20.3¢
9-37-93TA(t03) = U (ATEAT I 37T ¢ 5.3
3 9-37-33 HETAEHT U 833 33.%0
2-371-23TA(29) HETAGHT U R0 2244
Q 9-371-49 HETAEHT I Bl 38.l6¢
Y 9-31-84 AETALHT U 29R 34.¢3
9-31-24TA(to's) AETAEHT U 22 g.40
9-37-84TAR(¢?) HETALHT U e 2.5¢
9-31-84TAR(¢0) AETAEHT U 4y 2.¢8
9-31-84TH3(3%) HETTEHT I % 0.¢8
9-37-§¢ TETAeHT o9 o 0.3t
s 9-37-(olo HETAGHT U 83 3R.50
9-37-loloTA(S3) HETAGHT U RN .50
9-3T-to 6 TA(') ARTAGHT U 3 92.38
¢ 9-31-¢ AETAEHT U 008 $3.8¢
S 9-31-¢§ AETALHT U AR 98.¢3
9-31-¢§TAL(303) HETAEHT I 282 x
%0 9-31-¢§3T ARTAGHT U 48 93.3%
23 9-3T-Clo AETAEHT U Y4 .34
IR 9-31-¢S HETALHT U 362 98.8¢
23 3-31-%0 HETAEHT I 2033 $9.3%
99 9-371-89 AETALHT U 8¢ 3.8
Y 9-37-9Y HETAEHT I 88 R3.3%
9% 9-37-C§ AETALHT U 2% 2.8¢
1t 9-31-S¢ JEeE [T 3 (AETATITT )] ug0 3%.0¢
9-31-9CTARY) TS [LRTET 3 (FATATaTaT )] %o .13




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o1 ufwiEes (37T FeReaHe)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
fareratrest
(5 fopett wier Rro)
¢ 9-37-8¢ HETALHT I 3% R0.53
9-371-¢8TH(30) HETAEHT U7 Mo 0.CC
9% 9-31-300 TETcAedT U9 2R 33.80
R0 9-37-20% HETALHT I 28% 23.90
22 3-37-30% HETAEHT I 298 90.38
3R 9-37-20% TG U gee 4.5R
33 9-31-304 AETAEHT U M8 ¢.34
9-37-204TA(R¢) HETALHT U 23§ .29
38 9-31-20% AETAEHT U 383 94.3¢
Y 9-37-2010 HETALHT I oY 98.8%
3% 9-37-30¢ HETAEHT I go3 R2.9%
e 9-31-3%0 AETAGHT U e 5.42
3% 9-31-292(8%) AETAEHT U §o? 3%.44
¢ 9-37-H1.9 HETAGHT U 8% 3%.08
IRCR? §03.95
9 3-37-9% FEeE [T U (AETATITAT )] 448 39.3%
3 3-31-3¢ = U (ATEAT I 374 580 33.50
3 3-37-3¢ JEeE [T 3 (AT )] 430 .30
3-37-38TF TE=ies [amrat u (et )| 3R .05,
3 3-37-9¢ = 7 fe. 3. 330 .33
3-37-8¢UT = 3 fe. 314 35 2.30
3-37-8¢TARY) = 7 fe. 379 3%% 20.18
Y 3-31-4% = 3 fe. 3. 03 98.3¢
g 3-31-44 = U (ATSAT U 37T 250 99.0%
s 3-31-4§ ERRCEDEREGRECE) ¢8 99.89
¢ 3-37-4% AETAEHT U 340 9¢.16%
S 3-31-§0 = U (ATEAT I 374 238 9.8




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 gFEes (RS TRaeeTHe)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
fremafre
(5 Tepett ey far.0.)
3-F-5LTAR) = U (ATSAT U 37T %0 94.33
%0 3-31-bo EREREHBIREIPEICRICICICIB) 48 30.83
3-37-oud JEeE [T U (AETATITT )] to¢ g.20
3-37-5oT? e [Tt 4 (FATerrare )] 303 30.55
2 3-31-(0§ HETAGHT U 3R 26.93
3-9-6ETA HETAGHT U 40 53
R 3-37-olo = U (ATSAT U 37T 294 22.¢
?3 3-31-¢o Wéﬁ?%ﬂﬁw Roly 20.¢
3-37-CoTA(SR) e U fSerel 3. 333 20.8¢
9% 3-31-¢3 e [(Rrdt 4 (FATerrare )] 363 95,43
3-37-¢3TACLs JEeE [T 3 (AT )] 382 93.54
24 3-3T-R =T I (AT AT 7. R B.4%
25 3-9-¢3 I (ATEAT U 74T 33 20648
3-31-¢3TF = U (ATEAT I 374 24 .38
3-3-C3TH(2) g U (AT U 74 383 98.0%
o 3-31-¢¢ = U (ATEAT I 374 298 99.38
%€ 3-37-¢8 AETAEHT U o 2.30
28 3-31-99 FERCHPIREIRERCRIGIEICID] REY 93.¢%
R0 3-31-93 FER BRI BERGEISICISID] 8% ?3.0l
3-37-3TA(58) eI [emret I (FTare )] ¢o 2.20
29 3-37-9% AETAEHT U 293 .93
3-31-¢5TH(50) HETAGHT U ¢ 2.80
3R 3-37-9¢ JEeE [T U (AETATITAT )] 3¢Q R0.83
3-31-9¢TA(RY) TS [T I (FATATaTaT )] 3 98.3¢
3-IF-RCTAACHTA)  |TE=iwE (et I (FeATaret )] 239 §.CC
23 3-37-%00 TS [LRTET I (FATATaTaT )] 303 98.8¢
28 3-37-30% HETAEHT U 32 9.53




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o1 ufwiEes (37T FeReaHe)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
fareratrest
(5 Tepett ey far.0.)
Y 3-31-30% ARTAEHT U 28 Q.8
3% 3-31-303(toR) EER I PIREIBERCRIGIEICID] 34 99.3%
o 3-31-30% (§0) JEeE [T U (AETATITT )] I 8.95
¢ 3-37-204(23) = U (ATEAT I 37T 8% 94.g0
3% 3-31-91.3 AETAEHT U 43§ 6.5
3-31-71.3N(¢®) AETAEHT U 3%¢ 30.80
R4 §2¢.CR
9 |y-er-ArR HETAEHT I 2934 48,48
3 |4-3r-713 e T o 8L 33.33
3 [4-31-%0 AETAEHT U 2985 §R.06¢
g [u-3r-y HETAEHT I 1R 93.33
$-37-34TH(35) HETAEHT I 4% 93.3%
$-37-24TA2(2¢) HETAEHT I 1R 93.33
4-37-94TAR(2R) AETAEHT U 9¢E S.tolo
$-31-94TA3(R9) AETALHT U 3¢§ 0.}
Y [w-ar-Ry = U (ATSAT U 37T 483 R¢.80
4-37-4TA(R) = U (ATEAT I 374 8¢ EER
g |4-31-3% JeHEE U TSad 3. 833 3R.39
4-31-35TA(¢) JeHEE U feaw ara. 333 92.169
$-31-35TA(%0) &g U feerd art. 34§ 258
o [9-3T-4y AETAGHT U g5l 34.0%
e |4-3T-cR HETAEHT I 43¢ RC.RY
$-37-¢ITA(83) AETAGHT U 388 9¢.0%,
%0 [4-31-¢3 HETALHT U 293¢ 48.¢o
$-37-¢3TA(3¢) HETAEHT I 38§ 30.18
¢ |4-31-¢3T( ) AETAEHT U 538 3.90
97 |4-31-¢8 ARTAGHT U 45¢ 29.CR




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o TR (31TeBe Tefeae)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
fremafre
(5 Tepett ey far.0.)
4-31-¢8TA(34) ARTAEHT U 58 93.¢§
)R-y JeHEE U feast ara. 5§83 38.¢2
$-3T-¢$TA(Y) JeEE U o™ 3. 03 30.5%
93 |4-3r-¢C ARTAGHT U 838 3R.00
98 |4-31-¢e HETAEHT I 380 9¢.3R
9 |4-31-93 TS [RTET U (FATATaTaT )] (638 89.8%
930%0 §C8.8Y4
2 §-31-2% HETAGHT I 8o R.50
§-37-28TA(¢Y) AETAEHT U 23 g.40
§-31-28TF2(CL) ARTAGHT U 293 92.3¢
§-I-2RTAR(RS) HETAGHT U 994 §.08
3 §-37-3¢ EER I PIREIRERCRIGIEICID] 3l 98.668
§-3T-3¢TA(8¢) JeHeE [T U (AETATITT )] 2¢3 g.%0
3 §-31-3% = I (AT AT I 424 .08
§-31-33TA(% ) = U (ATEAT AT I 233 §.8¢
§-31-33T 2(*3) = I (ATHAT T 37T ¢oR CERE
§-37-33TAR(2R) = U (ATSAT U 37T &3 3.3
§-31-33TA3(¢?) = U (ATEAT I 37T 0% 90.¢R
g §-37-93 JeHEE I TSad 3. 3% 89.0%
§-31-83TT3(¢R) JeHaE U feas ara. 0% 4.35%
&-37-83TA3(8R) JeHEE I TSad 3. 948 ¢.08
§-37-83TA8(48) JeHEE U feas ara. 433 .95
§-37-83UA5(4¢) TeHaE U feast 3. 59 3.R0
§-31-83T6(59) Jeag I oot 3T 983 .42
§-31-830¢(G0) TE=ieTs U FeTs Tt Bl 8.8
o §-31-8% JeHaE U feas ara. 843 33.6¢
§-37-85T2(¢R) TEHEE U feas 3T 43 R.5¢




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 uREz s (3The FeaeaHeR)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST Bl dqiges
TyrerTatarenT
(5 fopett wier Rro)
§-3T-8§TAR(16%) TeHEE U TSad 3. 9% §.3%
g §-37-4% = U (ATEAT I 37T 3¢3 R0.00
§-37-48TA(43) = U (ATSAT U 37T goo R%.00
o §-31-C¢ = U (ATEAT I 37T %L 99.0%
§-37-¢CTA(te's) = U (ATSAT U 37T lo 2.3¢
¢ §-37-93 JeHaE U feas ara. 39§ 94.48
§-31-3TA(¢S) JE=ias U TeeTs 3. 352 3¢9
] §-3T-8% = U (ATEAT I 374 5% 93.9%
%0 §-31-9Y AETAEHT U 28 ].§R
§-31-84TH(8Y) AETAGHT U 9oy 35.8%
§-31-84TA(8R) AETAEHT U o .30
§-31-34TAR(g0) ARTAGHT U 0% 4,85
§-3-94TH3(R9) HETAGHT T g4 3.89
HA 424,32
Q-37-A1.§ BRI ALGS.(T) N8 9%.3%
-37-AT.§N(R0) AERTE, AT.%S.(T) 258 ¢.Clo
-31-A1.5N3(R?) RN ALGE.(T) 93¢ 9.3%
-31-71.5N3(lo§) AERTE, AT.%S.(T) g0 8.3
-37-AT.5N3(22R) RN ALGE.(T) R4t 4.0l
2 §-37-3% ARTAGHT U 28 Q.83
e §-31-4 = U (ATSAT U 37T 00§, §.3%
§-3T-43TA = I (AT AT I 288 0.45
3 3-37-§lo TETAeHT o9 §C5 3%.0%
Q ]-37-5¢ HETALHT I %R 94.33
§-3T-5¢UA(¢3) HETAGHT U EIAS 94.3
g §-37-(oR AETALHT U %Y R0.6%
g §-37-0§ AETAEHT U 38R 98.09




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o1 ufwiEes (37T FeReaHe)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
fremafre
(5 fopett wier Rro)
(o Q-3T-(o¢ HETAEHT U 3% ?5.33
¢ §-3T-¢R = U (ATEAT I 37T 238 9.8
§-37-¢IUA(5S) = U (ATSAT U 37T 333 22.169
S ]-37-¢Y AETALHT U 293 $¢.93
%0 §-37-¢¢ JEeE [Tt 3 (AETEATaTar )] ggo R3.90
2 §-31-¢S HETAEHT I 000§ $5.89
R §-37-93 AETAEHT U 23 <.5%
23 §-37-98 = U (ATEAT I 374 430 RE.l6¢
28 §-37-C§, AETAEHT U 830 3R.99
2% §-31-8lo = U (ATEAT I 37T 2294 $¢.48
2% §-31-¢ HETAEHT I 358 98.30
§-31-99TH HETALHT U 3|_Y ¢.8§
2 §-31-30¢ JE s [emrdt 49 (FRTETare )] 35% 99.92
3¢ §-37-30% AETALHT U 8¢8 24.93
2Q g-31-2%0 HETAEHT I go3 32.4%
R0 §-31-299 = U (ATEAT I 374 28 Cslo
29 §-37-234 = U (ATSAT U 37T 830 3R.4¢
R §-37-93§ HETALHT U 30% %8.0l
R 9R03¢ 5304
3 92-31-3 = U (ATSAT U 37T 520 32.3¢
2 93-31-¢ I 39 - 3(feuw Fm) 438 3¢.30
92-31-¢TA3(¢0) IT 3T - 3N(Teuw FT) o4 3.99
99-37-¢TAL(16%) Ie 39 - 3(feuw =) 4¢ 3.04
92-37-¢TA4(¢?) I 3ao - A(feuw Fom) 43 2.6¢
3 99-37-38 = U (ATEAT I 37T 8loo 38.5¢
8 93-37-30 HETAEHT I 90§32 44,009
93-31-0TAR(2L) HETALHT U 30% 94.95




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o TR (31TeBe Tefeae)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
frermatre
(5 Tepett ey far.0.)
99-31-30TA8(23) HETALHT U ¢ .43
Y 99-31-3 = 3 fe. 314 033 36.89
3 93-31-3§ = 7 fg. 3. ¢84 9.9
o 93-31-%o AETAGHT U 3003 43.9%
¢ 99-31-53 Je 39 - N(Feow ) Y0%0 44954
N 93-3T-so TS [RTET U (FATATaTaT )] ¢8 98.99
%0 93-31-168 = U (ATSAT U 37T 33% 9.93
99-3T-L8TA(8?) = U (ATEAT I 374 R0% 90.60§
23 93-31-(0§ I 3T - 3N(feuw T ) g% 33.0%
R 99-37-¢R HETALHT U o Q0.3
92-31-CRTA(RY) ARTAEHT U %¢ 98.0l
93 99-37-CY = 3 fe. 314 08 3%.9%
98 93-31-¢S JeEE U TSad 3. 340 6.¢C
93-37-CQTA(33) JEHTS U Teeret ara. 304 95.03
2% 93-37-93 = 7 fg. 3. §3% 33.4%
2% 99-371-63 = U (ATEAT I 374 8¢ 2.9
93-31-83TA(43) = U (ATSAT U 37T o 3.89
2o 99-31-8% FERCHPIREIRERCRIGIEICID] 380 9C.RR
3¢ 93-31-84 Je 39 - N(Feow ) 3%0 R0.8¢
tS 99-31-8% = 3 fe. 3. 363 98.8¢
93-37-05TH(55) = 7 f2. 3. 3% 92.10§
99-31-95TA2(43) = 3 fe. 3. R 93.33
R0 99-31-8¢ = 7 fg. 3. 384 92.95
23 99-31-% = 3 fe. 3. 8 9480
R 93-31-300 IT 39 - (TSI FA.%.) 3%y 20.168
3 99-37-303 = 3 fE. 3. 24y 23.¢8
9 99-37-20% Ie 3T - (FSuH FAH) 53¢ 33.4%




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o1 ufwiEes (37T FeReaHe)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
fareratrest
(5 Tepett ey far.0.)
Y 93-37-303 I 3T - N(feuw FaT) 985 6.5
99-37-203TA(5¢) Ie 39 - I(TSuw T ) 304 9§.0%
3% 98-31-30% IT 3T - 3N(Teuw FT) 38¢ 98.30
R 93-31-%04 IT ITA - 3 104 §.34
954¢R (190.5%
9 93-37-A1.9 AENTE AT.GE.(37) w9 30.90
93-31-718N(22¢) AERTE, AT.%S.(37) “o( %5.50
93-37-7T8N2(5%) HAERTE, AT.5E.(37) 333 .33
N 93-31-AT8N=(SR) AERTE, AT.%S.(37) 493 3%.83
93-31-A18N3(30¢)  |HERTE ALES.(37) 833 3R.13
93-37-71. AERTE, AT.%S.(T) 93¢ §4.0%
93-3T-ALNTAR(BG) | FHERTE ALGE.(T) e? 9%8.33
R 93-31-%0 = 3 fe. 314 313 98.33
3 93-31-0 I 3T - (refg=TIF J.%eT.) Q 0.3%
g 93-31-30 JeHTE U feas ara. 8% .83
93-31-36TA(3) TEHEE U feaw 3T 303 ¢.8¢
Y 93-37-9 TS [T I (FATATaTaT )] §Co 34.0
93-31-83TH e [amret U (FATerrare )] 3%¢ 95.0%
g 93-37-§8 TS [T I (FATATaTaT )] 6o 3¢.80
II-ERTAGRC) | TS [Tt 3 (FETerere )] 830 RR.4¢
o 93-31-¢§ HETAEHT U7 439 0.3
¢ 23-31-¢o TEHE [Tt U (FHTATTEAT )] 3R% 26.93
93-37-30T(¢8) ERELEHBIREIBEICRICICICIB) 369 98.9¢
23-31-00TA2(¢3) e (et U (FTerara )] 3]R% .03
%0 93-37-%¢ ARTAGHT U 439 .34
23 93-31-3%0 ARTAEHT U s 4.0l
R 93-31-23% AETAGHT U 93¢ %tk




10

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o1 ufwiEes (37T FeReaHe)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
TyrerTatarenT
(5 Tepett ey far.0.)
93 93-31-99R TeHEE U TSad 3. w8 3¢.8%
93-31-233TA JeHEE U feast ara. 293 4.3
9% 93-37-29% EECHPIREIBERCEICIEICID) 883 33.40§
Y 93-31-23% JeHaE U feast ara. 33? 206.3¢
93-31-225TA(8?) JeEE U TSa™ 3. s .4l
93-31-235UA2(3R3) | TEIeE I et e 104 Q.3%
93-31-335TAR(¢) JeHEE U TSa™ . 230 .98
93-31-235TA8(48)  |TE=ies I oot e 3% 93.3¢
% 93-37-93% AETAEHT U 248 93.3%
93-37-23RTA(4R) HETALHT I 53 3.;0
o 93-37-23% JEeE [T 3 (AT )] QC? 434
¢ 93-37-93% EER I PIREIRERCRIGIEICID] 3%0 $.lo¢
28 93-31-230 = U (ATSAT U 374T.) 04 20.16§
R0 93-37-23¢ TS [LRTET I (AT )] §5% 38.8l
39 93-31-23¢ = U (ATSAT U 37T 340 (6.¢¢
R 93-31-383 = U (ATEAT I 374 339 95.¢Y
3 93-31-3%3 JEEE [T 3 (AETATITar )] 4ol 5.5
33 93-31-29% =1 3 fe. 3. 238 3244
93-31-988TA(223S)  |= U fe. et 14 %.lolo
Y 93-31-284 HETALHT I 203 20.53
3% 93-37-38% AETAEHT U 248 93.3%
93-31-285T(30) HETAGHT I 949 6.3
R 93-31-281 HETAEHT I g8 3.3%
93-37-386TA(¢R) HETAGHT I g2 3.30
¢ 93-31-98¢ AETALHT U %Y 24.8%
e 93-31-240 AETAGHT U 5S¢ 35.8Y
30 93-31-343 EESEEDEREGREGEI 358 ERE




11

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

37 URHS S CIEEAEEESEE))
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
frermatre

(5 Tepett ey far.0.)
93-31-343TA(33s) | TE=IS I feod I 3R R0.0%,
39 93-31-343(388TA-293)| TE={ag I e 3. 345 9¢.3
R 93-37-243 (38R) HETALHT I EEE 99.55
200338 §30.3R
? 94-37-3 AETAGHT U 9%t 3%.08
2 94-371-93 = U (ATSAT U 37T 988 (0.¢R
3 94-31-33 = U (ATEAT I 37T 83t R2.¢8
9 94-3T-3% = U (ATSAT U 37T wgy .53
Y 94-31-33 = U (ATEAT I 37T 881 23.80
3 94-31-38 = 7 f2. 3. 8CE 34.43
to 94-37-go HETAGHT U 858 R9.3%
¢ 94-37-8lo TEHEE U feaw 31w 448 3%.08
S 94-31-%0 e [Tt 4 (FTerrare )] 340 93.93
30 94-31-4% = U (ATSAT U 37T 3039 $3.5%
94-37-48TA = U (ATEAT I 37T 40 30.5¢
94-37-4QUAL(8Y) | U (ATHAT I ITT.) go 29.93
22 94-37-4% = U (ATEAT I 374 8¢l 4.4t
R 94-37-5¢ HETALHT U 284 9R.CH
23 94-37-58 HETTEHT U 3¢o .84
98 94-31-0 HETAEHT U 883 38.¢3
34-3T-0oTA(305)  |HETHEH! UF go 22.99
2% 94-37-6R JEEE I TSad 3. 368 0.5
%% 94-37-(63 TeHEE U feas ara. 433 RN6.8¢
2o 94-3T-1o8 = 7 fg. 3. 2y 2.9
%€ 94-37-0§ = U (ATEAT I 37T Blog 8.¢8
94-3T-6RTA(2S) = U (ATSAT U 374T.) 488 RC.4%
IS 94-37-18 JeHaE U feas ara. 8o 3393




12

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 aREiEes (3TTepe FefreeTaren)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
frermatre
(5 fopett wier Rro)
R0 94-37-¢o = 7 f2. 3. 85l 2843
29 94-3T1-¢R JeHEE U feast ara. 343 9¢.43
R 94-31-¢3 = 7 fg. 3. 4l 93.9%
94-37-¢3TA(R) =1 3 fe. 3. %0l $.§3
23 94-31-Clo Jeeg [amrEt 39 (FasTid )] 340 2¢.3¢
94-31-C 6T (%¢) T [Tt 3 (Fasatd )] o'y 2.3¢
38 94-31-98 EERECIREIE L) o8 32,63
R 94-31-8§ ERRCEDEREGRECE) 838 24.98
3% 94-31-Slo = U (ATSAT U 374T.) (9§ 3¢9
R0 94-31-% TeHaE U fead ara. 369 98.§%
¢ 94-37-300 JeEE U TSaw 3. R 9%.5§
38 94-37-309 = 3 fe. 314 28 IR.CE
30 94-37-203 FEREHBIREIPERGEISICISID] 3¢ 0.3%
3 94-37-308 TeHaE U feaet ara. 203 90.4%
R 94-37-30Y JeHEE U TSad 3. 93¢ §.20
34-31-204TA2(30%)  |TE=ISE U oot ara. R%0 23.54
33 94-31-201 = U (ATSAT U 37T Qo9 40.9¢
38 94-37-30¢ TeHag U feas ara. g 23.¢8
34 94-37-AT. L BN AT.GE.(37) gog Qlo.lo3
94-37-AT. LT HERT A%, (37) 38R R0.4¢
3% 94-37-AT.¢ AENTE AT.GE.(37) R4y 40.98
94-371-H1.¢TA(4R) AERT A%, (37) 22 52.8¢
3 94-31-A1.8 HAERTE, AT.5E.(F) &8 38.50
94-3-ALRTA(ls) | HENTE ALEGE.(F) 2% 0.8
29388 2224.82
3 95-31-¢ &g U fSerel 3l CER RR.5¢
2 95-31-33 = 3 fE. 3. %Y 9R.CE




13

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o TR (37T FeReaHe)
fRrerraTey HrEtET LEEEE]
3135 Ry Tl Fw 91 I diges
fremafre
(5 Tepett ey far.0.)
3 9§-37-39 HETAEHT I ELE 95.09
g 95-31-3R JeHEE U feast ara. 988 28.83
95-37-33TA(t6%) JeEE U o™ 3. oYy 30.9¢
4 25-37-35 TE{ES [Tt 47 (Fasaia )] 38 22.9%
25-3-35TA(8R) TE S [URTE! U (Fasaid )] 25l 843
25-3-38T () | TS [eRrt U (s )] 23 R.3%
-I-3RTAR(CE) | TS [t U (Faswie )] o R%.42
9§-3T-35TA3(CETASY) | T TS [arat I (Faaia )] %o ¢.go
g 95-37-99 TE=ieTs [amrat U (Fasai )] 2080 $49.84
o 9§-31-%0 TeHaE U fead ara. o 0.00
¢ 95-31-40 JeEE U TSaw 3. g 0.8l
S 9§-31-4¢ YURIERT He HE.IAEH 9 430 R¢.CC
95-3T-4¢TA(4R) JUIIENT e WEIMEF T R§% 98.9%
%0 95-31-5 o JUTIENT e WE.IAEH §° wgo 89.%8¢
2 95-31-1% JeHEE U TSad 3. 43 R¢.8%
R 9§-3T-Clo JeHaE U feas ara. 3%3 0.53
95-3T-¢leTH JeEE U TSad 3. %08 %03
23 95-37-¢8 TeHag U feas ara. 30¢ 2520
98 9§-31-9R JeHEE U TeSa™ . %5 2.8
9§-37-QTA(¢Y) JeHaE U feas ara. L 3.0
95-31-8RTA2(S3) JeHEE U TSad 3. Blo§ 38.8%
8 95-37-88 JeHEE U feas ara. 83l 33.8%
95-37-C8TA(¢Y) JEEE U TSad 3. 309 20.163
2% 9§-37-71.%0 HERTS A%, (37) 2043 $4.3¢
95--AL.30TA(¢o)  |wanTe AT.%E.(31) g% 3.3%
95-31-A.30TA5R)  |HENTE AT.6e.(37) 3%0 R0.8¢
o 95-31-71.%4 =Y ATEF He. HERAT 533 33.33




14

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o TR (31TeBe Tefeae)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
fremafre
(5 Tepett ey far.0.)
22350 4Q8.8?
3 200-37-2 EEREHCIREIE LS| 144 <Ll
3 U9-3T-R IHETE U Tt (FRTeTg® T u+) %R 9%.33
3 919-371-§ TEHEE (TTET 37 8¢ 33.8%
8 206-37-30 TS (ST I ) 833 R2.5¢
20o-37-20TH(22) EERECIREIE L) 893 34.¢3
Y 39-37-93 TE~{TE (ST T ) 338 s.¢0
900-37-93TA(5E) EEREHCIREIE L) st 2.8
200-31-93TA(108) PR CHCIREIB TS 380 Q.8¢
g 900-37-99 TEHEE (AT 37 68 98.54
o 9-3T-R0 JEHTE (ST I ) 3¢8 0.00
¢ o-37-3 EERECIREIE LS| %0 92.03
N o-37-33 FERCHCIREIPES) 2%¢ 94.84
%0 29-37-38 EECHCINEIDED 300 24.00
22 o-3T-3% PR CHCIREIBES) 33 95.%
R o-3T-32 EERECIREIE L) 33% .¢0
93 900-37-33 TS (ST 3 ) 389 R0.43
98 20-37-33 PR CINEIBED 35% 98.33
Y o-37-38 JEHTE (ST I ) 33¢ 206.30s
2% o-3T-3% EEREHCIREIE L) g4lo 33.8%
2o 200-37-3¢ TS (ST I ) ¢E 9%4.0%
¢ 20e-37-80 EERECIREIE L) 3%¢ 4.5
tS 900-37-89 TS (ST 3 ) 3%0 R0.9¢
R0 200-37-83 EERECIREIE L) 348 2¢.48
29 o-37-83 TS (ST I ) 33¢ 20630
R o-37-8% EERECIREIE LS| 830 3R.4¢
23 o-3T-8Y JEHTE (ST I ) 30§ 98.06%




15

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o TR (31TeBe Tefeae)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
farera et
(5 Tepett ey far.0.)
W o-3T-Ylo JEEE [T U (AT )] 48 93.50
=Y o-37-8¢ PR CHCIREIB TS 33% 22.¢1
3% 2o-31-8% AETAEHT U Ns¢ 98.50
W o-37-143 PR CHCIREIP TS R 99.93
¢ o-3T-4R FERECIREIE L) %% 93.%0
N o-3T-4 JEHTE (ST I ) 368 98.5%
30 o-37-4§ EREHCINEIDED tHY 24.49
39 2o-3T-Y41o TS (ST I ) 309 9.0
3R o-3T-4¢ FEREHCIREIE L) %0 23.5%
33 o-37-50 PR CHCIREIBEE) 30¢% 5.}
39 o-3T-5§3 EERECIREIE L) /R 93.40%
3 [26-ar-ER L CHCIEIBED 833 RR.30
3/ [26-31-53 EEEEHCIEIDED 3§ 206.93
3 No-3T-5% FERCHCIREIP TS 93¢ 5.3
3¢ o-3T-§4 FERECIREIE L) 393 94.3¢
EN 900-37-5lo PR CHCIREIB TS 4t 93.9¢
o 2-3T-§¢ EECECINEIDED 303 94.83
200-31-5CTA(43) TEHSIE (Tt U ) 33% 20,52
83 o-37-(63 EERECIREIE LS| 833 R.5¢
83 o-3T-1oR FERCHCIREIBES) 8¢ 93.0%
83 o-3T-63 EERECIREIP L) 43§ .5
8% 2o-3T-Lo'y TS (ST I ) 852 2%.]0
Y o-3T-0§, EERECIREIE L) 314 95.48
Q% 0-3T-lols PR CHCIREIBES) g0 .50
Bl 2o-37-10% EEREHCIREIE L) 38R R0.4¢
8¢ 0e-37-CO TS (ST I ) 338 206,48
8% o-3T-¢2 EERECIREIE LS| 68 98.3¢




16

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 aREiEes (3TTepe FefreeTaren)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
frermatre
(5 fopett wier Rro)
40 9-3T-¢R TeHEE U TSad 3. 3RY 99.€3
43 900-37-¢3 PR CHCIREIB TS R08 90.80
43 3-3T-¢8 HETAEHT U 988 ¢l
43 I0-3T-CY ERGCHCIREID LD R03 0.4
4Q o-3T-C§, FERECIREIE L) 3% 0.4¢
Yy 2o-37-Clo JEHTE (ST I ) 343 93.3¢
45 o-37-CC FERCHCIREIB TS 14 S.lslo
St 316-3T-S0 TEg (4Tt 3 ) 414 92.84
4 06-31-93 FEREHCIREIE L) 4¢ 93.50
go 900-37-93 ERGCHCIREID LD 28l 3.8t
53 200-37-88 EERECIREIE L) 98¢ (5.0t
53 200-37-Qlo TS (ST I ) 263 90.93
5% o-3T-8¢ EERECIREIE L) 933 5.95
g 210-37-9¢N(to) FERCHCIREIP TS 333 22.03
5% 200-37-¢ N 3§ FERECIREIE L) 308 4.3
gl 9-37-C¢ JeHaE U feas ara. oY 29.8%
g¢ 919-37-300 JeEE U TSad 3. 3¢ 9R.0%
A9 209-37-303 FERCHCIREIPES) 309 4.0
vo 90o-37-20 EERECIREIE LS| o8 3.¢8
(o9 306-37-203 JeHaE U feas ara. 98 0.3
R 06-371-208 EERECIREIP L) 858 8.5
03 20o-37-20' TS (ST I ) 5% 3.86
o 20o-37-30% EERECIREIE L) R0¢ 20.8%
o' 3e-3-200 PR CHCIREIBES) 250 ¢.80
o-37-206TA(RS)  |TEHEE (UTET I ) R0l 20.¢l
0§ 9-3T-30¢ TS (ST I ) 98¢ 30.80
(ol 20o-37-308 EERECIREIE LS| 98§ 20.3¢




17

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 aREiEes (3TTepe FefreeTaren)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
frermatre
(5 Tepett ey far.0.)
g |26-31-3%0 EHE (Ut I ) 98 (6.53
o |2-37-223 FEHE (ATt U 234 29,39
¢ 20-31-298(5%) EEREHCIREIE L) 5L 98.0%
68 00-31-99 JeHaE U feast ara. g0 3R.0%
¢o o-37-29% FERECIREIE L) 333 206.8¢
2 200-37-221 EREGCHCIREID LD R4¢ 93.44
0-31-22 6 N(¢) EERECIREIE L) 3R 9R.2¢
R 206-37-93¢ TS (ST I ) 385 SRR
¢3 200-371-230(8) FEREHCIREIE L) 248 ¢.34
8 2o-37-233(¢) PR CHCIREIBEE) 30¢ 95.20
¢ 9-3T-333(RNs) EERECIREIE L) %0 23.54
5 206-37-233(23) &S (ST 347 ) goR R9.93
s 2o-31-938(3%) EERECIREIE L) 334 206,48
¢ 910-37-934(3%) EREGCHCIREID LD 263 g.0¢
¢] 200-37-23% FERECIREIE L) %0 93.5%
go 910-37-910(3¢) PR CHCIREIB TS 828 RR.00
]9 o-3T-9¢ EEREHCIREIE LS| ¢ 92.80
SR 200-37-938(¢R) TeHag U feas ara. 338 206,48
<3 9-3T-230(8%) T (ST 3 ) 30l 95.9%
¢3¢ 18§2.63
3 9¢-31-R JeHEE U feas ara. %8 94.99
2¢-3-TA(R) TEHEE U feaw 3T 294 99.39
2 9¢-31-8 TeHEE U feas ara. 32% 95.4¢
9¢-A-9TA TEHEE U feaw 3T 993 4.3
3 9¢-31-9R JeHTE U feas ara. 4¢3 30.53
8 9¢-3T-]Y JeHEE I TSad 3. gco 4.0
Y 3¢-3T-R0 JeHaE U feas ara. 438 R0.49




18

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 aREiEes (31TeBe Tefeae)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
[HBIRIEEa]
(5 fopett wier Rro)
g 9¢-3T-R¢ TeHEE U TSad 3. 38R .85
s 9¢-31-58 JeHEE U feast ara. Q%% 8¢.08
¢ 9¢-3T-6R JeEE U o™ 3. 58 34.54
S 9¢-3T-¢R JeHaE U feast ara. 88 3.8
9¢-3-¢RTA JeEE U TSa™ 3. ]y 2.9
%0 9¢-31-C8 JeHaE U feas ara. 4t ¢.R8
2R 9¢-31-330 TE~{s (It 3 ) 9% 35.33
23 9¢-31-298 JeHaE U feas ara. 9885 0.8
98 9¢-3T-9RY JeEE I A 3. g4 3.3
8 9¢-31-380 TeHaE U fead ara. 8% (6.5l
9¢-37-380TH TEHEE U feaw 3T <g 4.0%
9% 9¢-37-983 JeHaE U feas ara. 830 R.4¢
2 9¢-31-243 EECHCINEIDED 2959 §R.84
3¢ 9¢-31-243 FERCHCIREIP TS §3% 33.%¢
2¢-31-3493TA(348) | TENE (et 3 ) 332 9.3¢
HS 9¢-3T-24% PR CHCIREIB TS (oo 80.8¢
23 9¢-31-348N(30R) EEREHCIREIE LS| gl 8443
2¢-31-248N2(203TA) |TEHTE (Ut I ) R%¢ 99.8%
R0 9¢-3T-24Y EERECIREIE LS| 450 3%.80
29 9¢-3T-241 FERCHCIREIBES) 393 94.3¢
9¢-3T-246TH TEHEE (AT 37 ) 3y IRAS
R 9¢-31-24¢ TS (ST I ) 3R 9R.3¢
9¢-31-94¢TA(te5) EERECIREIE L) 439 N6.34
3¢-3-24¢TA (W5 TH) |TE=iaTs (Trat o) RY 9.39
3 9¢-31-250 TEEE I TSad 3. 895 29.¢8
38 9¢-31-353 JeHEE U feas ara. 350 3.3t
2-F-2RTARTA) | TEEE U ToeTs 74, 2% 22.3%




19

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 aREiEes (3TTepe FefreeTaren)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
frermatre
(5 Tepett ey far.0.)
9¢-AM-252TAYUBR) | TEHEE I T 3. “oR 3%.3%
R 9¢-3T-25R JeHEE U feast ara. 23 99.83
9¢-3T-95RTA JeEE U o™ 3. 28l 9R.Q0
3§ 9¢-3T-H1.99 HERTE, ALEE. () gog 2.8t
9C--ALITA(CY) | HaNTE AL () IR% 5.8
-F-ALNTAIR)  |HERTE |G, () ©3Q 3¢.R¢
¢ 9¢-IT-AT.9R HAERTE, AT.5E.(37) o3 R%8.3%
9¢-3-AT.IRTA(28-37-3{HERTE, AT.HE.(37) 9o 35.C%
s 9¢-3T-HT1.95 BN ALES.(T) 38¢ 8.3
9¢-IT-A1.95TA AENTE ALEE.(T) 34§ 93.8%
995¢Y 2033.4%
3 99-37-71.23 JUIIETT HeT WE.ITEF W 880 33.%0
R 99-31-A1.98 JURIETT FeT HEIEF W 453 9.84
3 98-371-71.94 JURIETT HeT WE.ITEF W 8¢ 34.9%
g 98-31-9 JeEE I Tsad 3. 36% 843
Y 98-31-3% JeHaE U feas ara. 3g0 90.¢'
3 98-37-33 JeEE U TSad 3. EE CERT
o 98-37-3§ JeHaE U feas ara. 22 8.40
¢ 98-31-]¢ = 7 f2. 3. 830 3R.4¢
g 98-31-33 JeHEE U feas ara. 449 ¢.83
%0 98-37-8% JEEE I o™ 3. 368 98.90
98-31-88TA(34¢) JeHaE U feas ara. 338 98.l0Y
29 98-3T-340 JEEE U TSad 3. 300 95.3%
98-31-240TA(25) JeHaE U feas ara. 368 98.90
R 98-31-94R = 7 fe. 3. 8 R.8R
23 98-31-243 = 3 fe. 3. Y 98.9%
98 99-31-94% JeHEE I TSad 3. 340 9¢.3¢




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 aREiEes (31TeBe Tefeae)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
frermatre
(5 fopett wier Rro)
99-31-248TA(28S)  |TEHEE I Tead 3. 344 .58
24 98-37-340 JeHEE U feast ara. tED 5.45
%% 98-37-948 = 7 fg. 3. 388 9¢.0%
98-31-248TA(RY) =1 3 fe. 3. Y 8.0
o 98-37-350 = 7 fe. 3. Ne§ 98.89
98-31-350TA(2%Y) [ I fe. 3. 350 ¢.g0
3¢ 98-37-953 = 7 fe. 3. 3R0 98.Co
95-31-353TA(348) [ I T2 ar. 9y 92.3¢
9% 98-31-2§ JeEE I A 3. 448 38.08
30 98-31-253(4) TeHaE U fead ara. 3o 98.93
29 98-31-258(0) JeHaE U feae ara. R Q.45
oo 893.4%
3 R0-31-9% = U (ATSAT U 374T.) Blo¢ 34.%0
e R0-31-33 JeHEE U feas ara. 2 .34
3 R0-37-3% TeHwE U feast 3. 329 95.%%
g R0-31-3¢ TG ASIGE /e, | 380 206,
g R0-37-3% = 7 fg. 3. 8CR 24.3%
3 R0-37-4l HETASHT U 3¢ 94.93
o R0-31-50 = U (ATSAT U 37T 8L 3.8l
¢ 20-31-54 JeHaE U feas ara. R 92.8%
] R0-31-5§ JEHEE U Tsad 3. 8L 98.0%
%0 R0-31-§lo =1 3 fe. 3. 303 .89
99 R0-37-163 = U (ATSAT U 37T 3%0 95.3¢
R R0-371-6] = U (ATEAT I 37T 3R 2¢.8¢
23 R0-371-163 = U (ATSAT U 37T 3§% 2%.30
30-37-103NgS = U (ATEAT I 374 9o 5.5
20-37-163TA(1e5) = U (ATSAT U 374T.) 8 .5§

20




21

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

31 aREiEes (3TTepe FefreeTaren)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
frermatre

(5 fopett wier Rro)
98 R0-37-168 TeHEE U TSad 3. R0l 30.¢ls
% 20-31-(ol AT U Ty 0% 0.8
2% R0-31-Co = U (ATSAT U 374T.) N9 98.8%
o R0-31-¢? JeHaE U feast ara. 3%0 26.¢Y
3¢ R0-37-(R JeEE U TSa™ 3. 845 23.98
98 20-31-¢3 Je 39 - F(Teuw FAT) 8o R2.¢8
29 R0-37-C§, = U (ATSAT U 37T 33 906.3¢
R R0-31-¢lo JeHaE U feas ara. 948 ¢.34
3 R0-31-¢¢ TEHEE U feaw 3T 2ol 8.3¢
% R0-37-¢% TeHaE U fead ara. 0§ 3.8%
Y R0-31-%0 = U (ATSAT U 37T %% §.0%
3% 20-37-¢3 = 3 fe. 314 263 ¢.4%
R0 R0-37-3 = U (ATSAT U 374T.) 943 0.3
¢ R0-31-¢3 TeHaE U feaet ara. go?3 2%.0%
20-31-¢8N(to¢) JeHEE U TSad 3. 43 06.83
3% R0-37-9% E=ieE U fSorel 3. 238 9.39
30 R0-37-5 =T I S, 4. R 2.3t
32 R0-31-l = I (AT AT I R0% 98.8%
R R0-31-3¢(lo') = U (ATSAT U 37T 298 2%.40
20-37-¢¢N(8R) = U (ATEAT I 374 0% 0.8
EE] 20-37-88(%?) = 3 fe. 31 8CR 34.39
R0 R0-31-300 HETAEHT I %% 8%.¢3
R0-31-200N ARTAGHT U % R.0%
29303 4eR.8§
9 39-37-A1.9¢ JeHTE U feas ara. €88 8%.32
23-37-ALIN(30)  |TE{TE U fea™ 31w 0§ 3.98
R R3-31-4 = I (AT AT I ¢y 98.95




22

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o TR (31TeBe Tefeae)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
farera et
(5 fopett wier Rro)
3 R9-37-¢ = U (ATSAT U 37T 3%¢ 94.84
g R3-31-98 = U (ATEAT I 37T 28 9R.C
§ R9-31-38 = 7 fg. 3. 439 RNs.¢C
R3-3T-LTARR) = 37 fe. 3. 203 90.53
g 9-37-3% = U (ATSAT U 37T 883 4.¢C
(o R2-31-g0 = 3 fe. 3. 3899 94.3¢
¢ R9-31-§3 = U (ATSAT U 37T 509 R§.30
S R9-31-5% = 3 fe. 3. 833 3.3
22 R3-31-5¢ 9T 39 - A(feuw Frw) 238 93.3¢
R R2-31-103 = U (ATEAT I 37T 30 ¢.93
R2-31-169TA(300) = U (ATSAT U 37T %0 93.03
23 29-31-LR I ITA - (TEATTF SH.%T.) Y 8.l
8 29-31-103 = U (ATSAT U 374T.) 389 IR.EY
1 9-37-16% AETALHT U ols Q.39
2§ 39-3T-lo¢ U2 I - (TETIATIF J.52T.) o 99.83
2o 9-37-168 AETALHT U ¢Y 8.l
¢ R9-37-CR = U (ATSAT U 37T 3R R0.4¢
2% 9-3T-Clo IT 39 - (TS qATIS F.%2.) 368 98.5%
R0 R9-31-¢¢ JeHEE U TeSa™ . 144 %Ll
33 39-31-¢% = U (ATEAT I 374 00 90.40
R 33-31-%0 U2 I - (rSTIATF J.%2T.) 35¢ 28.30
23 9-37-¢9 I ITA - (IEIATTF SH.%T.) %% 93.80
3% 29-37-93 TEHTE [T 3 (AT )] 363 98.4¢
39-31-8TA(208) TS [T I (FATATaTaT )] 330 .33
29-37-83TAL(]E) JEeE [T 3 (AT )] B3 80.3¢
R R9-37-83 = U (ATEAT I 37T g¢o 34.0
35 33-31-Ql = U (ATSAT U 37T oo 32.40




Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

o TR (31TeBe Tefeae)
fRrerraTey HrEtET LEEEE]
31.5F. a.Rrg. et TR ATT ST T diges
farera et
(5 fopett wier Rro)
22-31-09 HETAEHT I 288 93.00
¢ 29-31-20% I 39 - (fleuw Fm) 9y 99.3¢
3% R9-37-203 = U (ATSAT U 37T g8 34.8%
30 R3-31-0% =1 3 fe. 3. 283 ¢.M%
33 R9-31-304 = U (ATSAT U 37T 530 3R.03
3R 29-31-90%, = 3 fe. 3. %0 23.93
33 29-31-0l = 7 fe. 3. 23¢ 9R.4Y
38 29-37-30¢ HETALHT U 33% 20.58
34 29-31-993 I 3T - (refI=TIF J.%eT.) 9% 2.3
29-37-223TA(2%) |9 ST - (el J.%T.) 24 ¢.0%
35 9-37-99R JeEE U TSaw 3. o¢ 8.20
30 29-31-29% I ITA - (TEATTF SH.%T.) QO 4.08
3¢ 39-31-3%% I 39 - (IrefgaTgE J.%T.) ¢y 98.93
EN R9-31-93¢ = 3 fe. 314 8¢ 2R.80
R9-31-23¢ TA(30) = 7 fg. 3. 8o )R.50
o 29-31-99¢ HETAEHT U7 420 .98
83 39-31-939 I 3T - 3N(feuw T ) 392 9%.0¢
8 R9-31-93 Je 39 - F(Teuw FAT) 4% Q.5%
83 29-37-333 = U (ATSAT U 37T 88 9845
8% 39-31-93% IT I - (T fATIS ST 58 3.53
Y 29-37-234(1%) = U (ATSAT U 37T 340 9¢.3¢
95 39-31-33§ IT 39 - (Reuw Fm) ¢ 2.5
%0 39-31-30(§¢) = 3 fe. 3. Qlo's 38.8%
263l §3§.00
3 [2-31 3rETE He™ IRCRY §03.25
R |3 9900¢E §3C.CR

23




24

Hg-310r ey gy

T STRRAT SIRITAH, 2093 SIA THIRE T 21T U AT T a0 TaRaiqed o fiesd

STHATHT ATHTSTHT! ATE H, 038 BRAT TRHSAHE Faa"

37 U (3The Tehrearwe)
fRrerraTey HrEtET LEEEE]
3135 Ry Tl Fw 91 I diges
fareratrest
(5 Tepett ey far.0.)
3 |s-arfomE 93080 §C8.5%
g |g-rTaOndw AT 424.39
PR L B G 9303¢ §32.4%
§  |22-37 AETHEHT 254¢R ¢50.5%
o |23-37 HIEWTT 210338 §30.9%
¢ TR 29389 9224.93
¢ |v%-31 REaEt 93380 4QE. 82
30 |2o-37 TRTET N3¢ 9852.63
39 [3¢-3TERT(U) 298¢ 2033.4%
9 |2%-31 RraTsiuTe, TIeyY Rgoo 993.48
93 |R0-37 ST AT, Tieh! 399203 4CR.C§
98 [R3-37 AT oE 3l Q3%.00
399503 99223.00




